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3. ST uNE SASHE (241 %)
HE CHst DR 2018 2019 2020
o4 At AYGstE 209.5 350.0 500.0
R ALt Ifo| 't A A Aokt 280.0 340.0 300.0
44 | ddastis BH=z8sF 200.0 369.2 515.4
o4 SAtChst HEA ARSI A ) 66.7 120.0 300.0
1= SAtCH St HESHE(QE) 133.3 200.0 33.3
= ARICH St M=ol 375.0 300.0 475.0
o2 AHERH CH S} wgstt 425.0 450.0 500.0
oZ AP CHS} By PmE= ! 175.0 325.0 400.0
oZ AP CHS) o=t 225.0 400.0 325.0
Rl | Atz|ufstrist ot 75.0 50.0 100.0
Q12 | Atz|apEtCist O|C[0{FH 7 L| 7 0| MStut 180.0 280.0 440.0
QlZ | Atz|upstrist Atz st ot 183.3 260.0 180.0
RIE | Atz|ufstrist X 2w st 350.0 275.0 350.0
olF | M=tupstoyst AL A=A RIS N QI E) 714 200.0 200.0
olF | d=tuistoyst o|FstahQIE) 2429 2429 4143
ol | elZutstlst = Ol 25t} 175.0 100.0 375.0
ol | elZuf=tlst A=kt 500.0 225.0 325.0
lF | Ql=xfstoyst o B2t 2333 200.0 180.0
oI2 | AZustoist SOos 2t 140.0 140.0 200.0
2 | oIZutstryst Hatat 150.0 100.0 75.0
ol | AHauistolst Sl 2714 733.3 320.0
12 = S s s, 2™ st 425.0 350.0 325.0
XA Uoste 2t SHIHREA) 1714 71.4 257.1
Rt Satoist HE8=t A5t 175.0 85.7 150.0
N Satoist HESstE 216.7 200.0 175.0
XA Satoist HAESHE (X AH) 350.0 50.0 150.0

Satoist 7| ASSE 284.2 216.7 241.2
S AL st S A|Zstat 50.0 80.0 100.0
SAtCiEt 0| 2§ At & KXt-= st ot 200.0 200.0 260.0
Stoist g el gnl; 350.0 380.0 420.0
Satoist M HZ ot} 166.7 3333 2333
SatCiEt AT SoHE 2364 210.0 200.0
Satcist 0f| L X| = <t f 200.0 275.0 325.0
SAtCist HXH I st 140.0 160.0 160.0
SAtCiEt 7|ttt 100.0 333 233.3
Stoist SEYMXI3SHE 360.0 392.9 376.9
Stoist A etg S st 275.0 225.0 133.3
SatCi st 7| MHSeHE 290.0 244 4 287.5
SatCist HFHAZEROSE 265.0 263.2 387.5
Satoist iri%—é*ﬂr 420.0 480.0 440.0
ArRCH st e L= 200.0 400.0 300.0
A=t afstrjst Al E G st ah(xFH) 275.0 128.6 100.0
A =t oot st A LY = C| X} QIS dp(RHH) 33.3 66.7 33.3
A=t atstrljst O| F st ah(XtA) 125.0 175.0 125.0
Xt opstlst = 2| staf 300.0 400.0 600.0
Xt ofstrljst Rty 300.0 260.0 480.0
X+ ofstrjjst s=stt 183.3 260.0 220.0
Xt opstl st =ttt 225.0 325.0 425.0
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